T LT4—RER

FR25F6A16H(H)
g L K A 7ok 4 > | =&)L | HDCP bk 7 7
7 B BE Ha 39 37 76 9.9 66.1 300
H2hH WE FH 37 39 76 9.9 66.1 200
3L FaF F0iE 38 38 76 9.0 67.0 150
Afiz KA #H— 43 40 83 15.3 67.7 70
543 2% — 46 46 92 24.3 67.7 60
64z =H BZ 47 47 94 26.1 67.9
741 A& IL1T 43 38 81 11.7 69.3 50
841 JNE B 41 40 81 11.7 69.3
9fz #AK sF 44 39 83 13.5 69.5
10%z Rl KR 38 38 76 6.3 69.7 50
11431 M RAER 40 38 78 8.1 69.9
1241 HEF ER 40 37 77 6.3 70.7
134z B =T 40 41 81 9.9 71.1
144 Z2 #&n 43 38 81 9.0 72.0
154iz =% BX 40 39 79 6.3 72.7
164 LEiE BRI 42 38 80 6.3 73.7
174 AT HE 43 43 86 11.7 74.3
1841 MZE FZRE 44 44 88 13.5 74.5
1941 ER ZF 47 43 90 15.3 74.7
201 B R 43 48 91 15.3 75.7 30
21431 e B 42 43 85 9.0 76.0
2241 BA =ha 46 40 86 9.9 76.1
2311 ik %5 44 41 85 7.2 77.8
2441 WE k& 48 39 87 9.0 78.0
254 =H XS 45 43 88 9.9 78.1
261 WmE 1A 48 44 92 13.5 78.5
2741 R 81T 45 43 88 9.0 79.0
281 Mim  BER 48 44 92 12.6 79.4
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Fri25%6H16H(R)

g £z K £ 7k 4 > | b—=%J)L | HDCP Tk RAb
294 g FF 47 46 93 12.6 80.4

301z 1A 1HEA 48 47 95 14.4 80.6 30
3141 FL #Rx 42 47 89 8.1 80.9

324 F OEX 50 40 90 9.0 81.0

334 gk 3 46 46 92 10.8 81.2

34431 R & 52 48 100 17.1 82.9

354 =2 FX 50 44 94 10.8 83.2

364z miE SEA 51 48 99 13.5 85.5

BBE RE 7 56 57 113 26.1 86.9 50
3841 R tHF 57 46 103 13.5 89.5
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